Class:9th

TotalMarks:.... Time:....
Test:Physics

Attempt ......... questions

1 The motion of steering wheel is: ce S I S E P
a. random b. rotatory A /-« % Jei_a
c. vibratory d.linear A $aibc

° A change in position is called -gﬁw&,ﬁuﬁgﬁug
a.speed b.velocity $Us-b Av_a
c.displacement d.distance MULC

3 The motion in which a body moves in a
circular path is called:
a.random motion
c.vibratory motion

b.Circular motion
d.rotatory motion

4 A caris moving with speed of 20ms " . Its
speed in kmh' is:

a.36kmh ' b. 50kmh”

d.72 kmh" d.100 kmh™
> Which quantity is scalar :

a. Force b. Power

c. Velocity d. Torque

Negative acceleration is also called:
a. displacement b.Deceleration
c.Retardation d.Both B and C.

7 A body has translatory motion if it moves
along
a.straight line
c.line with out rotation

b.cindle
dcarved path

8 A train is moving at a Speed of 36kmh " .Its
speed expressed Inms is:
a.10ms” b.20ms”
c.25ms" d.30ms
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